51. ZIRADREK S EG

(1) (a—5)(a*+5a+25) (2) (2x+3)(4x* —6x+9) (3) 8(2a+b)(4a*—2ab+b?)
(4) 3(x—-3)(x* +3x+9) (5) X(x—=Yy)(X* +xy+Yy?)
(6) (2x+D(4x* —2x+1)(2x -1)(4x* + 2x+1) (7) (x=y+2)(X* =2xy +y* —2x+2y+4)

(8) 9(x—y)(x* —xy+Yy?)

ROX&R#DEE £,

(1) a®-125 = (a—5)(a”*+5a+25)

(2) 8x%+27 = (2x+3)(4x* —6x+9)

(3) 64a®+8b°=8(8a° +b%)

=8(2a+b)(4a*> - 2ab+b?)

(4) 3x*-81=3(x*-27)

=3(x-3)(x* +3x+9)

(5) x*=xy® =x(x*-y?)

=X(X=y)(X* + xy +y?)

(6) 64x°—1=(8x>+1)(8x°-1)

= (2X+1D)(4x* = 2x+1)(2x =1)(4x* + 2x +1)

(D) (x=y)*+8 ={(x—y) + ZH(x-y)* —2(x—y) +4}

=(X—y+2)(X* =2xy + y* —2x+2y +4)

(8) (x—2y)° —(y-2x)* =(x-2y)* - (y—2x)°
={(x=2y) = (y=2x)} x {(x—2y)* + (x—2y)(y — 2x) + (Y — 2x)*}
= (3x-3y) x (3x* =3xy +3y?)

=9(x—y)(X* —xy +y?)



